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MCO-05 : ACCOUNTING FOR MANAGERIAL 
DECISIONS 

Time : 3 hours 	 Maximum Marks : 100 
Weightage : 70% 

Note : Attempt any five questions. All questions carry equal 

marks. 

	

1. 	What is meant by analysis of Financial 
statements ? Briefly explain its usefulness and 
limitations. 	 4+8+8 

	

2. 	Distinguish between : 	 4x5=20 
(a) Reserves and Reserve fund 
(b) General Reserve and specific Reserve 
(c) Reserves and Provisions 
(d) Capital expenditures and Revenue 

expenditures 

	

3. 	Write explanatory notes on any two of the 
following : 	 10+10 
(a) Standard Costing 
(b) Budgetary Control 
(c) Variance Analysis 
(d) Concept of Standard Hour 

	

4. 	"Performance budgeting requires preparation of 20 
periodic performance report". Explain 

MCO-05 	 1 	 P.T.O. 



	

5. 	State the meaning and significance of the 
following ratios : 	 4x5=20 
(a) Price earning ratio 
(b) Interest coverage ratio 
(c) Debtors turnover ratio 
(d) Return on equity 

	

6. 	(a) What are the managerial objectives of 12+8 
creating Secret Reserves ? How these 
reserves are created ? 

(b) How is activity based costing different from 
traditional costing ? Explain. 

	

7. 	LMW Ltd., a multi product company, furnishes 
the following data : 	 5x4=20 

Particulars Period 1 Period 2 

Sales (Rs.) 45,000 50,000 
Total Cost (Rs.) 40,000 43,000 
Assuming that there is no change in price and 
variable costs and that fixed expenses are incurred 
equally in the two periods. Calculate the 
following : 
(a) Profit volume (Pv) Ratio 
(b) Fixed Expenses 
(c) Break Even Point 
(d) Percentage Margin of safety to sales in 

period 2 
(e) Sales required to earn profit of Rs. 10,000 

8. 	A factory manufactures two types of articles 
namely X and Y. Article X takes 10 hours to make 
and article Y requires 20 hours. In a month 
(25 days of 8 hours each) 500 units of X and 
300 units of Y are produced. The budget hours 
are 8,500 per month. The factory employs 60 men 
in the department concerned. Compute Activity 
Ratio, Capacity Ratio and Efficiency Ratio. 	7+7+6 
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9. 	The following facts relate to two machines : 
	

20 

Existing Machine New Machine 

Capital Cost (Rs.) 10,00,000 40,00,000 

Marginal Cost Per 60 52 

Unit (Rs.) 
Selling Price per Unit 120 120 

(Rs.) 
Fixed Expenses (Rs.) 1,00,000 4,00,000 

Annual Output (units) 20,000 40,000 

Life of Machines 
(years) 

10 10 

The existing machine has worked for 5 years. Its 
present Resale value is Rs. 4,00,000. The scrap 
value of the machine may be taken as nil. Advise 
whether new machine should be installed if rate 
of interest is 10%. 
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1. 	fq91-zr fq--a71 	ciqcquiazrr -a-rmzf t? 

d"  "I -2tr 441134 	•#4tr owstil --11---A-17 I 4+8+8 

2. 	P-1444(_11 31.d7 441 	: 	 4x5=20 

(a) kilti 	cb 

(b) ki1 4-11-e4 4-citi 721T fqtq 4-cV-1 

(c) f2.TT 5floreTT9.  

(d) TrAirff oqti -ff 2TT 3TFITM 041q 

3. 	r-P--1 	Oci 1 f-*--tt 	rcikquilc-i-Ict,  fduiruitir 

is 	 10+10 

(a) 411-14) MI 410 ct_lict)-1 

(b)  

(c) f497rifq 71-7 

(d) 4-111ch Eft 	4c11C-1•11 
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4. 	̀f9ls9frqff 'q-Af77.:131:1171.143 f i f-1 041q-ifiltzfrt 	20 

37-q7r-*--dit-ttl"oiRse41 	I 

	

5. 	F-1 4-Irri 	d 3 qT 	T 3T94cT TT 	ff77 : 	4x5 =20 

(a) -WITI7 31-49.  alTIM 

(b) Ti7WT 3-17Tff 

(c) k-HTT 31-r-q-4 31-1-crF 
(d) -tfqqtf Yc-q11 

	

6. 	(a) vi 	1,10T47 3-074 aril ? 
TI1-7 'WT4 1;1 cNI fq-rWiff ? 	 12+8 

(b) 	f 3T19TFTff c(lic11-1 	(11 41c1 
-5Tt7R 	t? oewsql tf--A7 I 

	

7. 	LN1W 	 F-1 4-.1Fort_1(1 341 
-37-ff aT 	: 	 5x4=20 

fqqTI=rT 3i a 	N 1 3.-Tqfq 2 

fq-wzr (T.) 45,000 50,000 

40,000 43,000 T9 01410 ( T. ) 

rch 	-9-F-TqtM 14 	icif 	Rack 
t 33  #2,TT r?:f ;111' 31-q-Nt A atIat  

1:1 4-irorod 	t1f---7 : 
(a) (119-1 tir771TUT 3-1-17F (Pv Ratio) 

(b) #217 (-114 1 .  

(c) (B E P) 

(d) 3-Tqfq 214 fay -97 iTr-d7F T-WT1114T 
(e) 10,000 T. 	tiTrk t 	 

Trfq-r 
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8. *--- rt 	 x 	Y , cr) 
1oQ.7fff7-*-r-frrAtzu 

Y -14 20 N).. rcl 	c1 41 t I 	1.) 4-1Hi -4 (25 	8 1;1 
-51fdtff t) x 11 500 7T-1-tq 	Y ct1 300 
.WE *-41q• )c-11 t.  I7.-4 	8,5001At 4-Mit I 

	

60 =117Ci 	3T17M (Activity 
Ratio), TT- k1 4-1 ,11 3 41 	ci (Capacity Ratio) . 211 

1c1c11 3 411 (Efficiency Ratio) chl 4 1 1-q-11 
-rEA-7 I 	 7+7+6 

9. 1:17ht 	fgTci : 	 20 

-4R-ti faw-iil 

TRiti 

10,00,000 40,00,000 -ctyr opid (T.) 
60 52 -5rfd.  7*--T 	Thliia' 0141d (T.) 

120 120 fq7711:1 Ord 7*i' ( T.) 

1,00,000 4,00,000 fRT-{ oqi (T.) 

qTrii- 	c-141q•-1 ( - "Wrtzer) 20,000 40,000 

10 10 Trti 	--r71-q-9-  -wr-.  (ati) 

fol SI 4 11-1 1171ti 'TT 501 	f r i 70-,r ti -p=rwr 
--4741--iii--9-F-4--*-71-1=t-74.  4,00,000 T. t I 1:171 

71- 4-11-1 	-11-7;r4tf-A-7 fah .7k 
art 	io% -1;rfff a 	a tt 	747 c1411.11 -rf- 

14) -161 
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